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Prove each identity.

1. sin @ =cos ftan 0 10.  cscff=cot? H+1
2. csc @ =sec Hcot b 1. cosd :l—sin6'
3. cos @ = sin § cot f l+sind  cosd
4. sec =csc ftan 12. cos& + cos¢ 2
5. 1+cscA=cscA(l+sinA) I-sin@ 1+sing  cost
6 cot B sin B sec B = 1 13. csc? 0 cos® @ =csc? 6 1
7. cosC(secC—-1)=1-cosC 14. tané +cotd = ::g
8. 1 +sin D =sin D (1 + csc D)
9. 1 —sin® 6 = sin @ cos 6 cot 6 15. cotd =cosd
cscl
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24. 1 —sin” 8 = sin 6 cos 6 cot 6 30. cotf . cos®

cscd



—

I

.

o

Hﬁv«nﬁ@uﬁ‘ ‘ "T”ﬁg T Ao pobities.

l. 1%
sinG

RS
C’,Qggfg; ‘?‘5&?’?@
- cosf s1n6€
con©

— 8}2!“1@5

é%s &}ﬁ&zicé&@‘%ﬁ!?&
4. 15 rogs
CosD

NGt
cslal.cose  (R5)
Sl
- Cosb

LS =RS

Vi cos® - sinbostt

ch x
<se (s Lin ?Q‘”B iigi’;?‘f
1 4

=csc Ayv cachaingh

L +cse A

-
b2
%ﬁ,}

=, c“gi?».}l ¥ uﬁm %%qﬁ\: ij{ﬁ}

Shey A

= csc A

A

S

A
s Ao

L |

b+ Cgfﬁ{l%g\gé\}
L5

cosC (secC-1)

A S
f”(@ﬁ@

c03CsecC - cos
cosC |  _cosC [Rr)
cosC
[ — coscC LS =RS

oecosC (secC-1 > = f”{ésc ;

N

RS
sec8 46

(@
= 4 cosb
, Costy ﬁ%?m%
S
Lin&s
. csc®

Lo = RS

S 5@ =secE& ot

LS

e
Secd

ci%f;&@éfa & (e
I PR N &
S8 o=l

- |

Cee S

o

= e secH®

Ly = RS

Ls BS

Cot B sin Prpc B {

- CEsB 8in® L {%*3?)
Sinid CeS g
-t
LS < RS
cotbsinBsec® =1,

RS
siabd(14cseD)
. SinD+sinDeseD

- GinD+sinDL_
ginhy
(Rx

v

.
W
o

= [inD +)
LS =RS : Legnd
[+80aD = 5inD( H»'{;gc,bi) {




Hendowd Tf"%% Tderhties.

9. [ sia* 0 = s/ Ocos@ cot@

Ls RS

[—sia™ & 57a0cocCcotB

- s5ilcosl s (RTD
Sing&
- cos™8
= -5 G
= LS
LS =S

/= sin*8 = 517 Beos O cot &

/. aese

[tsi2b
45
Los® X [-sn€
, [+5in6 /'*51}?&
- s & =,
f-~ 5{%29
_ cos®([-51nC) LPI}
>s 0 /S = RS
- =506 ot cos® _ [=50a0
cos & [+5in® o5

= KS

/= sia &
cen©

[3. s Ocos*O =csc O -
KS

il:;ilzé -
— 50—

(asc “O\

c:s«‘: 5‘9

D) RT

= {gg{}é (\Q@f 53\) T
=5

i LS =

L1 Cse Deos D= CsC O-

WCSQSSC

= cactO(

ULy G edq e

cse*@ =
LS

csc 6

(0.

C,éfaé TL[
RS
cot*0 +1
- ws® |
sh8
- c;cszg +Sin 0
S0 sinG
-~ cos B+sinQ
Sin™
o0
sin &
= csc B
= L5
LS =KS & csc®B=cof 2O+

R

T

(7>

(2. osb 4 Cos e - 2
[—5i'a@ [+5%1n0 cosE
s

cos® (#51a8) 4 cos6(l-si0®)
(1= sia @[ +sin€)
= cosB+ C@S@E st @ +cog 8 ~cosOsivi

5:’5)2“@
- éfz‘:@f}@
cos*©  (px).
= 2
(e " cocl
_ ze (0 (56, cosB - R~

[=5'08 /58 cos&

(5 eagitl PPl @UL

M

: og‘@ sin@
ﬁ{fﬁz‘§ : C&l} s g’»‘f*@ S
— ot O ¢r) - =M O
sin &
= C OEZZ@
LS =RS S
Vv s Pees B = ese :7 et
—




Zﬂ‘g T dintihes Handodt AR
i

Mﬁ@ + (@71,@ — Sé(j&
{;;ﬁg

L5
= 5m6 @l \QT,R )
Fos® | Snb
= sin @+ cos &
SinGos &

Sm@ceoc 5;

= Sec& |
gint ', fanCicotb . sec®

55 .

Ve e
LS

- cotfC@ ., 1
CscB
- sl sin®  (RI).
SinB
- cosB®

/}!‘"’
RS

i

(ot cosB
(s




